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= +6.5 4.1

= +89.7 15.2

0.8 6.6 = +

= +23.4 0.9

= +7.6 5.4

51.3 4.8 = +

Adding Decimals

Victor found the weight of two steel rods to be 5.6 pounds and 8.3 pounds.

What was the combined weight of both rods?

13.7 poundsa) 13.8 poundsb) 13.9 poundsc)

The city received 2.6 inches of rain on Thursday and 5.9 inches on Friday.

What was the total rainfall accumulation for these two days?

7.5 inchesa) 8.5 inchesb) 7.8 inchesc)

9)

69.7 tonsa) 68.7 tonsb) 66.7 tonsc)

Tenths: S1

A company procured 23.8 tons of sand and 45.9 tons of cement. What is the

total amount of raw materials purchased by the company?

7)

8)

1)

3)

5)

2)

4)
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